


Mbl HUKOrAa He CTaAMm
6bl pa3yMHbIMU, €CAMU
OGbl UCKAIOYMAU UUCAO U3
YUeAOBeUYEeCKOM
NPUPOADI.
[MAaTOH



HaTypa/ibHble

UNC/a

CyeT NnpeagmMeTOB
l, 2, 3.....

N



Llenble yncaa

X+d=B
...=3,-2,-1,0,1,2,3..

Z



PaLMOHaA/IbHbIe YMCN3
ax=>b
...=3,-2,7,-2,-1,0, 2/3,1,2,..

Q




flenctBuUTENIbHbIE
4ncna

vee=3,=2,7,
7 -2,-1,0, 2/ 1,
] 32,0

7 R







x“+1=0




MHMMARA
eAMHMLLA

-1







PeHe AekapT

Axknaopamo KopaaHo




AeoHapa DiiAep Kapa lMaycc







OTBeThI:

Bapuanr 1 Bapuanrt 2
Z+7=11-4 Z+7,=15-2
Z,-7,=9 +381 Z,-7,=9 +61
7, 7,=22 -581 7, 7,=44 -421
Z, @Ff 87 2_2:25+251




a) L +71,=-i, 71 -1,=5i
0) Z -1,=15

B) Z*=-100

r) Z -7,=21i






